
Von	
  Bregenz	
  auf	
  Rheintalautobahn	
  A	
  14	
  kommend	
  
Ca.	
  29,1	
  km	
  ,	
  ca.	
  17	
  Minuten	
  

	
  

	
  
# 	
  

Auf	
  der	
  Rheintalautobahn	
  A14/E60	
  der	
  Beschilderung	
  in	
  Richtung	
  
Schweiz/	
  Innsbruck/	
  Feldkirch	
  folgen	
  

27,3	
  km	
  

& 	
   Bei	
  der	
  Autobahnabfahrt	
  35	
  Rankweil	
  ausfahren	
   300	
  m	
  
; 	
   Rechts	
  abbiegen	
  auf	
  Appenzellerstraße	
   300	
  m	
  
Q 	
   Im	
  Kreisverkehr	
  zweite	
  Ausfahrt	
  (Sennhofweg)	
  nehmen	
   600	
  m	
  
; 	
   Rechts	
  abbiegen	
  auf	
  Kirchstraße	
   600	
  m	
  
	
   Kirchstraße	
  70	
  Golfpark	
  Montfort	
  Rankweil	
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